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questions.

A separate OMR answer sheet is provided to all candidates for answering.

Each objective question is provided with a text and/or figures wherever applicable with multiple
answer choices (A), (B), (C) and (D). Only one among them is correct and most appropriate answer
shall be selected.

Read the instructions on the OMR sheet carefully. Use only Ball Point Pen (Blue/Black) for writing on
OMR sheet and marking the most appropriate answer.

All objective type questions carry equal marks of THREE for a correct answer and One third negative
mark will apply for each wrong answer.

Multiple answers for a question will be regarded as a wrong answer.

Although the test stresses on accuracy more than speed, it is important for you to use your time as
effectively as possible.

Do not waste time on questions, which are too difficult for you. You can go on to other questions and
come back to the difficult ones later.

Question booklets have been marked with A or B or C or D or E on the right side top corner, which is
mandatory to be written on the OMR sheet in the box and bubble appropriately, failing which, the
answer sheet will not be evaluated.

Space available in the booklet could be used for rough work, if required. No separate sheet will be
prowded

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance
sheet. Candidates should sign against their names only.

At the end of the test (1) Written Test Call Letter(s) with photograph pasted on it and (2) OMR
Answer Sheet should be handed over to the invigilator and shall not be carried by the
candidate under any circumstances.
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T 9T HI8/Question Booklet Code A

01. STl =T "sicd &7 g/ What is the density of water

A. 2 91H 93 geF HeCIAI/2 gram per cubic centimetre

1 ITH 9T °sT AeclHIe /1 gram per cubic centimetre

1 férell ama 9f g7 A=E#Iex /1 Kilogram per cubic centimetre
39ded # ¥ F15 A81/None of the above

Oow

02.  TrAfaf@d # & sfear 37 &1 a3 HYChoose the inert gas from the following
FelIef/Chlorine

3TFHTST=T/Oxygen

SIHIA/Bromine

giferRrd/Helium

oo >

03. I EEYT LPG §/LPG is abbreviation for

Low Pressure Gas
Liquefied Propane Gas
Liquid Petroleum Gas
Liquefied Petroleum Gas

oow>

04.  WRAT] A gl T el HeAT 9X foT8RX §/The total number of electrons in an atom
depends on:

A. CITHFUI‘;'\??DTIH/AtomiC Mass

B.  UIA #ARX / Atomic Weight
C. WA F&AT/ Atomic Number
D AT 3TATT / Atomic Size
05. 3IRI-9RTE, V-decgIRR-gReTE, ar GaRT 3N e F1 yiafafca frar
I %/If | —is current, V —is volt and R — is resistance, then Ohm’s law is represented by
A. =1/R :
B. =R
C. R=VI
D. I1=VR

06.  373Isil & 4% AT §/What are the vowels in English

A. Db,c x,n
B. tpqy
C. a-e,

D. m,s, l

07. ¥Rd H 99 T &7 gfed Fel fohcdal TS §2/What is the total number of States in India
including Union Territories?

A 29
B. 36
C. 35
D. 28
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08. T HeT9uT ISRO 8/ISRO stands for
A. Indian Satellite Research Organisation
B. Indian Space Research Organisation
C. Indian Spacecraft Research Organisation
D. Indian Space Reaching Organisation
09. H ST T 3TARET UedlsT U &/Space port of India is located at
A. Bdga/Trivandrum
B. desis/Chennai
C. #gReler /Sriharikota
D.  sETe[®/Bengaluru
10. WW%@HW% I/In an equilateral triangle, the three angles are
A. 45, 45,90
B. 60, 60, 60
C. 60, 30,90
D. 90,900
11. e BT e 3maR 1083, 3R Farg 1587 §, af BT &1 &5wa gIA
triangle whose base is 10cm and height is 15cm, then the area of the triangle is -
A. 150 cm®
B. 100 cm?
C. 75cm?
D. 50cm?

12. % o 9% Fgd 82/Which is called dry ice?

A. &g gsset/Liquid Hydrogen
B. gifer#/Helium

C. 3TeRdTSTeT /Oxygen

D.

BT FIEA 3E3TFATSS/Solid Carbon dioxide

13.  PI-a1 3 Siger AT T ITeleT S¥aT §/The gas which obeys Boyle’s Law is called

IrEdTde /Real gas

31meel A/Ideal gas

ST AT B /Both A & B

SEI'éfI’EIfT-r #H & &S A81/None of the above

o w>»
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14. At gy # gegio & forg 3MsAlerd &7 TN fhar Siar §2/This isotope of

Hydrogen is used in Radioactive studies

QICR—IA/Protium
sARTA/Deutrium

FET=# 1/ Tritium
AR gT=il/Heavy water

o w>»

15. g oTel T pH &/pH of pure water is

6.5
7.0
7.4
8.0

oo

16. 19 9% &Y &1 STl & SATel 3 ST SA1GT §, I g8 /When an ice cube is dropped in a cup of |

water, it

A.  #T9 §7 ST g/evaporates

B. oRdrg/floats

C. &I 7T g/goes down

D. 3uded # & &I ALi/none of the above

17.  dieX 37 &1 GEe &/Composition of water gas

e AlFAss 3R ATSersi=/Carbon monoxide and Nitrogen
mm_ﬁ@mmarbon monoxide and Hydrogen
FTeT AltEaTss 3] 3merdis/Carbon monoxide and Oxygen
HTeeT AAIFATSS 3T SIesT/Carbon monoxide and Carbon

oo w >

18. - Boar2 q.#. 3R Fa15 7 @.7. & RS #1 3madeT #7471 £2/Volume of a cylmder with radius

2 cm and height 7 cm is

o0 w>
EaN
BN
Q
3
WL W w

19. Fofr 1242%4+3%+, .. +10? T AT §/Sum of the series 12+2%+3%+....... +10%is

A. 365
B. 375
C. 385
D. 395
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20. oY 3,1,-1,-3 & GIHT 3dT FAT §2/The common difference of the series 3,1,-1,-3 is

2
-2
1

cow>

21.  afe g=msr & ured 5 A.HY, 5 T.AT 3R 7 FA §, dF T 3MATT AT 82 /If the sides of a

cuboid are 5cm, 5cm and 7cm, then its volume is

125 cm?®
17 cm?®
32cm?®
175 cm?®

oo w»

22.  6.25 31X 3.5 T 0D o SRR g/Product of 6.25 and 3.5 is equal to

21.875
2.1875
218.75
2187.5

oOow>

23. #RAF 5T UsT H FHEAT T TE=IdT 318 g2/Which state of India is thickly populated?

A.  3a/Kerala
B. Yf¥a# sdmal/West Bengal
C. 3cdX weel/Uttar Pradesh
D. aﬁm@ [Tamilnadu
24, o1 3TEAY shie-faarret g/Entomology is the study of
A.  TATURI/Mammals
B. @31/ Insects
C. dgId/Rocks
D. <rsa/Words
25. MW HAIRTF T T @ 31780 STAT §/India has the largest deposits of
in the world.
A. F&U/Gold
B. IaId/Silver
C. 3¥n/Mica
D. drH/Copper
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26.

27.

28.

29,

30.

a1

TesT IfAaT FI5/Question Booklet Code A

RifafPusg 2016 & AfEcye derde] o fRg el & Tl gee SNd/For which game did

Mariappan Thangavelu won gold medal in Paralympics 20167

A. ol ®a/Llong jump
B. I %a/High jump
C. gls/Sprint

D. fe9er Su/Triple jump

el OhaT T TeT e I T Fr T X /Choose the correct verb form to complete the
sentence : Call your friend help.

A get

B. toget
C. getting
D. togot

HEY ATHIIL T TAT ik qFT PI T HY/Choose the correct phrase to complete the
sentence: Thank you me in Maths. v

A.  atcoaching
B. in coaching
C. by coaching
D. for coaching

STefel e & ToIT et YrafAe 3TaR §/immediate first aid for burn injury is

e & U 9T STelT/pouring water over injury
1T & FIX FITEY ST /applying ink over injury
dIc & S SHUST JTET /tying a cloth over injury
HAIGH °ldMl=T/applying ointment

oo w >

e 31197 ! g1 T3, Ig 3reaT 819 RR/While attempting to extinguish an electrical fire,

ENG M

it is good to

A, 9ddeTeh T giad Hi/inform supervisor

B.  faegd 3myfd 1 §g s¥/cut off power supply
C. U= STel/pour water

D.  IHF &I 9T eTemu/find an extinguisher

TS grepfcie 3 [ Hroetshr | &r Eitc ) TEeH &/ Main Constituent of compressed Natural
Gas[CNG is

A.  CH,
B. CyH,
C. CsHs
D. C4Hqo
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32. WB@QT A # ATSgIel A & A A TR e £?/How much percentage by

Volume of Nitrogen gases in the atmospheric air

A 21
B. 23
c. 77
D. 78

33,  37IHS & U Sl & G 1 sTaATe FIAT AT §2/Which gas is used for extinguishing

fire

A. giferg#/Helium

B. @msalaisi/Hydrogen

C. e STE3MFAEs/Carbon dioxide
D. 3drst/Oxygen

34.  wler-ar 3 &Y §2/Which gas is heavier

A. &8ersist/Nitrogen
B. 3MeRAIST/Oxygen
C. 3mi=/Argon
D. d1Ig/Air
P}
35. T 70T LPG &/LPG is a mixture of
A #1931k $95/Methane and Ethane
B. 32 3R W=/Ethane and Propane
C. 99 3 sg¢=T/Propane and Butane
D. s 3R U=esi/Butane and Pentane
36.  eieererrensit F LPG & 3curee ed GfehaT & 3T9=TTRT STaT §/Process Used for

Production of LPG in the refineries is

A. ThecIa/Filtration

B.  31freiwour/Adsorption
C. 31a2or/ Absorption
D. 3mHds/Distillation

37.  &I& &1 SdTS FAT §/What is the unit of Pressure

A.  Kg/m®
B. Ib/ft
C. N/m®
D. N/m?
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38.  SIger TH §/Boyle's law is
A, TR AT9HAT R ETS, 3T & HehAEIdred &

Pressure is directly Proportional to volume at constant temperature

B. TRR AH T M, IR § SThHATIaTe §

Pressure is inversely Proportional to Volume at constant temperature

C. TR & W A, YA & IThAETI §

Volume is directly Proportional to temperature at constant Pressure

D. TR e W R, A9l & cgeshal=urell &

Volume is inversely Proportional to temperature at constant Pressure

39. WA AIIATT AR S[UA.E1.9T.] IR §IE3IeTeT 319 o Ueh IUTH T AT fohcdell §2/How much
is the Volume of one gram of Hydrogen gas at normal temperature and Pressure [NTP]

A, 224M°
B. 22.4litres
c. 1120

" D.  11.2litres

40.  ©eTcd &I SehTS AT §?/What is the unit of density

A.  Kg/m?
B. N/m?
C. Kg/m®
D. N/m?

41. e &I 3T &r=Ta1)/Volume of sphere is [r=radius]

A 34T
B. 1/3mr
C. 413
D. 4

42. <% W A g[r=T3a1 h=3w18]/Volume of a cone is [r=radius h=height]

A.  1rth
B. 4mrh
C. 1/3mrh
D. 4/3mrh ‘
43.  faegd #Alex T guit JFd & ... gRafda sar &/An electric motor is a rotating

device that converts

deYT Fatt 1 FiTh Sl 7 /Electrical energy into mechanical energy
Tifeh Feil T deel Fotl # / Mechanical energy into electrical energy
AeYT Soll I Teh1el Sl # /electrical energy into light energy

AT Sl &l dedel Fsil & /chemical energy into electrical energy

OO0 w»
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44.  IE 100 TTC Todl &I Ueh o7 ATe] FXeh TWC 8, ol TaeTel T foheeil gohrS I TSI g1/ If a
100 watt bulb is switched on for one day, how many units of electricity will be consumed
A. 1.2 Unit
B. 2.4 Unit
C. 10 Unit
D. 100 Unit
45.  a*+b? U g/a’+b? is equal
A.  (a+h)?
B. (a-b)?
C. (atb)(a-b)
D. (a+b)®2ab
46.  Te IEH STTadl1, 2016 & T30, 2016[ ST feaAt 1 At | aes @el feaAT 7 e Fear
g1 39 fohae fe=at de e AT / A man worked on all days from January 1, 2016 to
September 30, 2016 [ both days inclusive] How many days did he work
A. 270
B. 273
C. 274
D. 275
47. AT & @ Sia-d &I gey ﬁ%ﬂﬂ%"NVhich of the following numbers is the smallest
A 12 ‘
B. 4/6
C. 5/8
D. 11/20
48. TH g, A 200 m/s? & TEIOT & T TAAT &, 16N T & 3cUGeT HAT g, Al 3HPT
GogHe........ BI9T/A ball moving with an acceleration of 200 m/s® produces a force of 16N,
then its mass is
A. 8Kg
B. 800g
C. 80g
D. 8g
49. Rajan and Rani to school Yesterday
[ TET 215G T T &h, Well TN 1 Gfct /choose a word to fill up this blank ]
A. Gone
B. Going
C. Go
D. Went
50. 379 Y Uorel 3R SITa Solal I 37eT9T Ugdeid & ?/How do you differentiate petrol and
diesel engines? ;
A.  SI9T Solell 7 FpTolaT TofaT BIelT & /Diesel engines have spark plug
B.  UCIT Sotail & FPIeiaT TefaT g1l ¢ /Petrol engines have spark plug
C. 3I9Td Soi 93T gIdT o/Diesel engine is bigger
D. Yard Sofel 93T 81T 8/Petrol engine is bigger
l 8 ‘ ‘ . 3IEAT UG JHTIET ‘T — RR 2016 — ITERHRHY / Driver-cum-Operator A — Dec 2016 — IPRC




5.

52,

53.

54.

55.

92T If3hT S13/Question Booklet Code | A

SYofel golall & aTg-UTRT glel ol SHIROT AT £?/What causes air lock in diesel engines?
A. 3Tg a1fd/High speed

B. 3Tl Cohl 8T /Diesel tank leak

C. Too=T Safa ot/ Low engine oil

D. D) @Hﬂsﬂﬁa@aﬁ‘rmmresence of air in fuel line

a’ravﬁrAaﬁwB%aﬁa@rg&mo Km B Ueh ST 31TeY hT ATAT o ST &I T 40 ThelteeT
gfa ger Fir afay W Termar § 31 arady I & e 50 freteeT i ger | 3 3R S dr

ITAT T YUT YA & T 3Taedeh ol HHY 1 Tl &MU/ The distance between two places A

and B is 100Km. A person drives car at a speed of 40 Kilometer per hour during onward
journey and 50 Kilometer per hour during return journey. Find out the total time required to
complete to and pro journey.

A. 2% /2 Hours

B. 2dc¢ 30 f&=ic /2 Hours 30 Minutes

C. 44C /4 Hours

D. D)44e 30 &< /4 Hours 30 Minutes

Ig ATATATT Tohd & T &/This traffic sign is for

A.  TohH=-ged Ash/Slippery road

B.  31reY Hhrot ¥sah/Narrow road ahead

C. 3 ¥s® $rA@iss /Road widens ahead

D.  &HoT gel/Narrow bridge

ool {01 H gcsh A FHepIoll 3Teh......... & ToIT Hohd T g/Inverted Triangular shape in

red colour indicates

A. THATI/One way
9aer Aal/No entry
AT &/Give way
&fIX SITT/Go slow

OO0 W

IMAEAR ¥ et FuRor _AfRfése @/Battery rating is generally specified as:

Jreedr 3 TfFRR /Voltage and Amperes

drecdr 3R ferailare/Voltage and Kilo Watt
vfPRR 3R fReitare /Ampere and Kilo Watt
dlecdr 3R TfF9RR ger/Voltage and Ampere Hour

oo w >
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56. {3 & ALY A 3feTaxd drelr T A &l & fh/The continuous yellow line in the middle of
the road indicates that

A.

B.
C.
D

13T {o¥hel ST T 31eTH Tl §/overtaking is permitted

HTY feleel ST HAT &/ overtaking is prohibited

33T T¥ehel SITAT T&T ¥ FAT g / overtaking is strictly prohibited
qY Feelel i IFATT §/Lane change is permitted

57. €T # 9gFd g arel faegd 3rTuey H - & GHAQY g/Electrolyte used in Lead acid
battery comprises of

oo >

et IR g s/ Water and Sulphuric acid

T 3R AArsfesd UfAs /Water and Nitric acid

ol 3R gIssIFalites Ufas /Water and Hydrochloric acid
STer 3R fafes &5 /Water and Citric acid

58. 90, 150, 225 ?ﬁ.'ﬂTJ} &I 9dT &I9M4/Find the LCM of 90, 150, 225

59.

A
B.
&
D

cowp

=

90
15
450
225

U5, SSTeT &1 AT 18T §?/What is the advantage of CNG engine?

3o [&319/High Pickup

3T 377/ High speed

et el 3UT9T/Low oil consumption
%A 1Y Jg¥UT/Less air pollution

60. Sl 7, SMF Tohd XdT & /In batteries, SMF refers to

oo w >

JaT1 9 W@ d/Service & Maintenance Free
dies TEy@a Igd /Sealed Maintenance Free
HYes afaeiierar Wgd /Sealed Mobility Free
39derd # & 1S 7Ag1//None of the above

10 |
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ISRO PROPULSION COMPLEX
Mahendragiri

Written Examination for Selection to the Post of
Driver-cum-Operator A — Post Code:016
vide Advt. No.IPRC/RMT/2016/01 dated 05.08.2016

ANSWER KEY

Question Booklet Code A

Q.No. | Ans.Key Q.No. | Ans. Key - Q.No. | Ans.Key
01 B 21 D 41 Cc
02 D 22 A 42 Cc
03 D 23 B 43 A
04 Cc 24 B 44 B
05 B 25 Cc 45 D
06 Cc 26 B 46 Cc
07 B 27 B 47 A
08 B 28 D 48 Cc
09 Cc 29 A 49 D
10 B 30 B 50 B
11 Cc 31 A 51 D
12 D o D 52 D
13 B 33 Cc 58 D
14 Cc 34 C 54 Cc
15 B 85 C 55 D
16 B 36 D 56 Cc
17 B 37 D 57 A
18 A 38 B 58 Cc
19 Cc 39 D 59 D
20 B 40 Cc 60 B

PS:- Any objections/queries in the Answer Key may be sent through email to

career@iprc.gov.in on or before 23.12.2016 (Friday) 15:00 Hrs. If no
objections are received before the stipulated date, the Answer Key will be
deemed legitimate.



